IHSAA GOLF TOURNAMENT - ELECTRONIC SCORESHEET  [BOX 1] Teams Scoring Summary [BOX 2]
Date: 14-Sep-07 Boys: Place School Score
Host School:  Southport High School Girls: 1 Roncalli 315
Course: Southern Dunes Sectional: 2 Warren Central 338
City: Indianapolis Regional: 3 Southport 353
T 4 Decatur Central 359
5 Perry Meridian 366
Overall Individual Scoring Summary [BOX 3] 6 Indianapolis Arsenal Tech 446
Place Name School Score 7 Scecina 460
1 Jamie Caylor Roncalli 76 8 Lutheran 478
2 KaileyJacob Roncalli 76 9
3 |Amanda Archer Warren Central 78 10
4 Kristina Mitchell Roncalli 78 11
5 Marie Black Warren Central 80 12
Indicate with double asterisk (**) when playoff determines winner. 13
14
Individuals Advancing Without A Team Summary [BOX 4] 15
Place Name School Score 16
1 Courtney Martin Decatur Central 81 17
2 Julia Engle Perry Meridian 87 18
3 Jenny Cozad Decatur Central 89 Indicate with asterisk (*) when fifth player's score
4 determines team's place.
5
The top three individuals and any ties for third place advance.
Team
Hole #| 1 3 4 6 9 Out | 10 ( 11 [ 12 | 13| 14| 15| 16 | 17 | 18 In | Total Score|
School Name Player Name Par 4 3 4 5 3 4 5 3 5 36 4 4 4 5 3 4 3 4 3 34 70
Decatur Central Courtney Martin 1 6 3 5 5 4 5 5 3 4 40 5 4 4 6 4 4 5 6 3 41 81
Jenny Cozad 2 4 3 6 6 5 6 6 4 4 44 4 6 6 6 4 4 7 5 3 45 89
Kristin Stroud 3 7 6 11 7 5 5 5 3 6 55 7 7 5 6 5 7 5 7 4 53| 108
Alexa Davis 4 5 5 6 5 5 6 8 4 7 51 5 6 6 8 5 5 4 4 3 46 97
Abby DeMouglin 5 4 4 5 8 5 4 6 3 5 44 5 7 5 6 5 5 6 5 4 48 92 359
Indianapolis Arsenal Tech Alyssa Lovett 1 8 5 6 7 5 6 8 5 7 57 5 6 5 7 6 6 5 4 5 49| 106
Lindsay Jenkins 2 6 5 7 8 5 7 8 3 6 55 8 7 7 7 7 7 5 5 6 59| 114
Emily Lucas 3 5 5 6| 10 3 8 9 5 7 58 6 7 8 6 5 5 8 4 3 52| 110
Anna Lucas 4 8 5 6 5 5 8 7 4 8 56 5 6 7 8 5 8 7 9 5 60| 116
5 0 0 0 446
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